Year 4 Multiplication and Division Homework Task

Tick your answer to each question, like in the example below. You can use any
space left below or around a question for your working out, if you need it.
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c [:] An answer not given here.
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4 A school has ordered 1,400 pencils for the school.
There are 100 pencils in one pack.
How many packs of pencils did the school order?
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5 Use the diagram to help you complete the calculation.
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b [] e39
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70x 6=

a [ 420

b E] 42

c [ 4200

d [] 42000

7 480+ ....=80
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8 A series of films includes 5 films.
Each film is exactly 95 minutes long.
If Chris and his two friends watched all the films back to back, without any
breaks, how long would they be watching for?

a D 190 minutes

b D 70 minutes

c D 475 minutes

d E] An answer not given here

9 34x6-=
a [ ] 184
b (] 180
c [] 204
d (] 24



10 Which of these calculations contains no errors? 12 Which of the below is not a factor pair for 247

= U 4187 > U 4[°]7 a [] 1and24

* 6 ® 6
b 8and 4
4 2 4 2 D
+ 3 0 0 3.0 0 ¢ [J 6and4
2 4 0 0 + 2 4 0 d [] 3ands
7 8 2
c D 4 5 7 d D 4 b5 7 13 There are 329 boxes in a van.
. 6 . 6 If all vans have the same number of boxes, how many boxes would there be
on 7 vans?
4 2 4 2
3 0 0 3 0 a [] 2303
+ 2 4 0 0 + 2 4 b [] 2143
2 7 4 2 9 6
c [ 98
d [] 1974
11 There are 94 apples.
They are packaged into bags with 7 apples in each bag.
How many bags of apples will there be and how many apples will be left 14 96:3=
over?
a [] 13r3 a [] 23
b (] 13 b [] 302
¢ [J 131 ¢ [ 3
d [] 13r7 d [] 33



15 Ina restaurant, you can choose from 2 different types of chips and 4 different

toppings.

How many different combinations of chips and toppings are there?
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18 Mike is on holiday. He has taken with him 2 pairs of shorts, 3 tops and 2 pairs
of shoes.
Assuming he keeps them all clean, how many possible different outfits could
he wear?

o

D 7 combinations
b O 12 combinations
c E] 6 combinations

d D 8 combinations

19 996+4=
a [] 2z
b [ 244
c [ 124
d [[] 240
20 52...=5200

a [] x10
b (] =10
¢ [] x100
d [J =100



